percent of (7) percent of (7) % of (7) percent of (7) percent of (7)
Work out Work out Answers Work out Work out
(a) 30% of £280 (a) 30% of £280 (a) £84 (a) 30% of £280 (a) 30% of £280
Lo Lo Lo Lo,
(b)  30% of £20.40 (b)  30% of £20.40 (b) £6.12 | (b) 30% of £20.40 (b) 30% of £20.40
Lo Lo Lo Lo
(¢) 15% of £4.60 (¢) 15% of £4.60 (c) £0.69 (¢) 15% of £4.60 (c) 15% of £4.60
Lo Lo Lo Lo
Turn over for more questions Turn over for more questions Turn over Turn over for more questions Turn over for more questions
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percent of (7) percent of (7) % of (7) percent of (7) percent of (7)

Work out Work out Answers Work out Work out
(d) 30% of £150 (d) 30% of £150 (d) £45 (d) 30% of £150 (d) 30% of £150

Lo £ o Lo Lo
(e) 15% of £6.40 (e) 15% of £6.40 (€) £0.96 | (e) 15% of £6.40 (e) 15% of £6.40

Lo £ o Lo Lo
(f) 15% of £130 (f) 15% of £130 (f) £19.50 (f) 15% of £130 (f)  15% of £130

£ o £ o £ o £ o
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